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LEARNING OBJECTIVE: We will find the volume of right prisms.
(G7M3L23)

ACTIVATING PRIOR KNOWLEDGE
We know how to multiply fractions and mixed numbers (multiply numerators and
multiply denominators)
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CONCEPT DEVELOPMENT
Volume: The measurement of the amount of space inside a solid figure, like a cube,
or prism. This is measured in cubic units, or units cubed (un?).

Picture a brick that is 1 inch tall, 3 inches wide and 6 inches long.
The volume would be length x width x height, or 18 cubic inches.
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Now picture 9 bricks stacked on top of one 3in.
another. How would you calculate the volume

of 9 bricks? q XB?‘Q 2 $6Leo. o -
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VOLUME OF RIGHT PRISM:
V=Bh

Height of

prism
7 Area of
the base
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GUIDED PRACTICE

Steps for Finding the Volume of Right Prisms

1. Identify the base of the shape and find the area of the base.
2. Multiply the area of the base and the height.

3. Express answer in correct cubic units.
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A box in the shape of a right rectangular
prism has a length of 12in. a width of
6in. and a height of 8in. The base and
the walls of the container are %in. thick

and the top is open. What is the capacity
of the box?
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A glass contained is in the form of a right
rectangular prism. The contained is 10cm
long, 8cm wide, and 30cm high. The top
of the contained is open and the base and
walls are 3mm (0.3cm) thick. The water
in the container is 6¢cm from the top as
shown in the picture below. What is the
volume of the water in the container?
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INDEPENDENT PRACTICE
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A right rectangular prism has a volume
of 27,000 cubic centimeters. The
e) dimensions of the base are 90cm by
3 50cm. What is the height?
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CLOSURE

Coffee Traveler three Act Task and PoW Garden Statue

NOTES
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